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THERKEEXER |2XEH |t LPRIERKEEBE HEERE R6.8.28|3% - X/ |Y02871 |AV YUY (TAH) EFELHEEREEAESRE HE B— 9,044 904 0 9,948
THAKEEHXER |2XEF (E- LRI ERAKEEEE EiEE R6.8.2|3 - xH |Y02502 |[RL>vt/L—% Ixy gAY w/Rr (B L LEEER 4,180 418 0 4,598
THRAKEEXER |B2XEH (B LRI ERAKEEEE BiEE R6.8.23|3 - i [Y02847 |RIZEHXI L —F > 7 EFH TIry gAY vy (KR) b EEEmR 62,600 6,260 0| 68,860
TEAKEEXER |2%EH |2 L EBIEBKEETE ERE R6.8.23[% - & H |Y02635 [PAC (GRUB{LT7ILI =7 L) B EAT AL EXE 396,975 39,697 0| 436,672
THRAKEEXER |2XEH (Bt LRI EAKEEEE ERERE R6.8.28|3% - & |Y02735 |LPHZ (TBA%) HASHEH 550 55 0 605
TERKEEXER |2XEH |-t PR ITERAKEELE HEEmE R6.8.28|3% - i |Y02873 |&d (7TBH) 1IA EFELHEEREEAESERE HE B— 4,611 358 0 4,969
THERKEEXER |2XEH |-t P IT£AKEELE 1EEE R6.8.21|3 - i |Y02778 |EB=i4/KigRA —0— X E(E B — R RA S 34,440 3,444 0| 37,884
TERKEEXER |Z2X£EH (Bt PR ITERKEELE A R6.8.9|%% - X! |Y02674 |BAEE+ + U 7 L BRASHEET dt =% 29,600 2,960 0| 32,560
THERKEEXER |2XEH (Bt RS ITxAKEEXLE o R6.8.23|3 + H |Y02634 |PAC (KUt 7L I = L) F—YENRASEIL EXIE 359,055 35,905 0| 394,960
TEAMKESXER (SXE2/ |t b IEAEELE A R6.8.23|3 - X |Y02632 |PAC (KU TIL I =7 L) F—YERASEI EXIE 786,050 78,605 0| 864,655
THERKESXER |BXEF | LPRIEAKEABELESE HEMRE R6.8.28|3% - ! |Y02873 |&hm (TB%H) 1FH EFELHEERRESESRE HLE BK— 10,087 784 0| 10,871
TEAMEEXER |EXEA |t LhBIERKE»BELERE EAE R6.8.23|3% - I |Y02633 |PAC (FEUB{LT7ILI =T L) F—YEHRASTI EXIE 37,525 3,752 0| 41,277
TERKEEXER |ZX2E80 (L LPTTERKESBELERE o R6.8.28|3% - X! |Y02832 |XREEHEEF U T L ERHEAEH 110,500 11,050 0| 121,550
TEAKESXER |SXE8A (B LhHIERKESBHREELTE |HERE R6.8.2|3%% - X |Y02501 |R> /v Taxy gAY vy (B b EEZERT 29,680 2,968 0] 32,648
TERKEEXER |ZXE8F (Bt LhTTERAKEABELERE |(EREE R6.8.9|3 - xHi |Y02625 |Z=&KFAHE Y MEH TIxy gAY vy (K) b EEEmMR 63,300 6,330 0| 69,630
TEAMERXER |SXER (B LhEITX£AKESBELELE |(BEE R6.8.28|3 - i |Y02874 |BFRA—FRL> Sy T Txy o RI w8y () b EEER 51,000 5,100 0| 56,100
TEAKESXER |EXE80 (B LhHITE£RAKES>BELELE |(ERE R6.8.28|3% - X! |Y02831 |REIEHEEF UYL ERHEAEH 148,200 14,820 0| 163,020
BRI H =25 it ERER T EAKE wirE  [ERERE R6.8.2|3C « I |Y02503 LT A N—%RAY A ¥ T ¥ —RifIEH TRy RI w8y () b EEER 203,900 20,390 0| 224,290
BARMEZH BRE (it LEhEIERKE BIRE  |DHERE | R6.8.28[3 - X |Y02880 |MZE M2022%F#lFE vV — MEERAE] (#F) EL= 8,400 840 0 9,240




